Lecture Notes Trigonometric Equations 2 page 1

Sample Problems

Solve each of the following equations.

1) sinz = —sin?z 6.) coszTsinz = coszx

2) 2cos’z —Scosr =3 7) tanz = tan’z

3) 3(1 —sinx) = 2cos’x 8.) 2cosz —sinz + 2coszsinz =1
4) sinr = —cosz 9.) cosz =1+sin’z

5) tan’:sr-% 10.) 7sinz +5=2cos’x

Practice Problems

Solve each of the following equations.

. 3
1) 1+sinz =2cos’z 8.) tanz:sinz:r:Ztanz

2) —3cost + 3 =2sin?x .
1+sinz cosT

9. =4
3) cos®z =cos’z ) e 1+sinz
B o= = 1
4) 2cos°z —cosz =3 10.) sin’x—%cosx+oos:tsin2:x:=§
5.) 2sin’z =cosz+1
11.) cotx =cosz
6.) 2cos’z + 3sinz =3
1
12) tanz — V2= ———
7) sec’z =4 ) tanz + V2
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